T02

[lAwna [nan
T"9WN | NN'D [I2WN2 0d0N NN
TN7Nnn oY

0"V .X

010 7710 [1IAwn NIIYS Yyax A

20+ (30-15)x 5=
(10+5)+~2-3=
TINKN 770 .a

20% 75-n =
15% 20-n

:D'TINNA NN '"72N T

N
7NW7? DanIx 20%!1 22011 Pnw? oranixk nna ormn2nnn 30% ox
50 ' NN OX 7071 DANIX NNDI722001T 7RYY DNIR Nnd 70011
DTN

a
Y N7 XIN NT2ANN D1 ANR? NNt nnn 60 7 nnix Anne na DN ovn
NAIY2 NRWI NN NN L7581 navinn 40%



noTIN A PN
:22un NLYI 97'n X

N"0 5 10I'TMY 7ayn q7'n IR K¥N

n"0 4 10"TMY 72yn VYW NN K¥N .2
72uNnn NOY NI 22uNn 7w oI'TIN NN Xx¥n 56.52 XIn 7aynin qp'n DX

292 no) A
n"0 5 mmanin"o 3 1ormw 771 Yw 1n91 NX X¥Nn

:NY71UNn NN0In N9 .A

n"0 6 0'0aN VX NIXY ,N'IT NNY' NY7IUN NN0IN ND] DX K¥N
n"0 12 nhonn nanar ,n"o 8 wiwnin nanl

ot e - me pelien oW
10

TS NO) .. T

NN2IAI N"0 5 1Y7X¥ NINY YIAM N0'0AY NYAINN NTNI'D N9 NIX KXN
n"o4

NP



